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E: 186 3 6 6 9 11 5 7 9 14 12 12 12 17 19 17 11 10 2 4 ]

S 151 2 4 4 5 3 5 3 8 8 8 9 11 12 16 16 12 10 9 6 £
LHF(X2) LHF(X2)
sy 26 1 0 0 0 0 1 2 0 0 1 2 1 2 5 3 3 0 3 2 B

] 14 0 0 0 0 0 1 0 0 0 1 2 0 1 3 2 2 0 2 0 ]

% 12 1 0 0 0 0 0 2 0 0 0 0 1 1 2 1 1 0 1 2 £

17




SHSFE1AXBEREXRAERAO BTFH-FEEEEHA - BLXAAORUVHER

X 4 @ H 0~ 4 5~ 9 [ 10~14 | 15~19 | 20~24 | 25~29 | 30~34 | 35~39 | 40~44 | 45~49 | 50~54 | 55~59 | 60~64 | 65~69 | 70~74 | 75~79 | 80~84 | 85~89 907% tHE A X%

7 % % % % % % % % % % % % % % % % [ [ Lk

#=F B&JI=F
B 175 0 0 1 3 2 2 2 4 6 8 6 10 19 25 32 13 13 19 10 104|#a%1
e 93 0 0 1 2 2 2 2 2 4 7 4 5 12 13 15 7 6 6 3 5
S 82 0 0 0 1 0 0 0 2 2 1 2 5 7 12 17 6 7 13 7 =S
& &t & i
i 282,615 9,196 11,387 12,416 12,931 13,476 13,193 14,298 16,438 18513 21575 20,921 18,373 18,693 18,459] 20,306 15,331 12,024 8,836 6,249 138,087|#a%
=] 133,336 4,691 5,755 6,320 6,501 6,690 6,606 7.120 8,030 9,100 10,615 10,295 8,866 8,948 8,800 9,142 6,647 4,702 2,933 1,575 =]
= 149,279 4,505 5,632 6,096 6,430 6,786 6,587 7,178 8,408 9,413 10,960 10,626 9,507 9,745 9,659 11,164 8,684 7,322 5,903 4674 £°S
X1 #EFE. DEFRERG
X2 AR, /DER
X3 MEHFZST,
X4 FB=THZET,
X5 (LILETFiEE/RFHEZED,

18




